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Problem 5 (30):
A proton captures a μ-meson, an elementary particle with mass 210 times larger than the electron mass (but with the same charge as the electron), to form a hydrogen-like atom. In the questions below, express your results in terms of the parameters used in the description of the usual Bohr hydrogen atom. 
(a) What is the radius of the first Bohr orbit of the newly formed -meson hydrogen atom? 


((b) What is the velocity of the μ-meson in the nth circular Bohr orbit? 
Velocity independent of mass. Same as Bohr


(c) What is the energy of the photon that is emitted when the μ-meson falls from the second excited state to the ground state?
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